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Qu es’ﬂﬁﬁs\d
-~
Instructions 4 \
For the following questions answer them individually \

Question 1

Read the following information and answer the question based on it

A baby has eight stuffed animals and has pla%&th@mi;\& two or three. He has separated the monkey, the llama and the
dog into different piles. The first pile includes a lio gm'o‘u’sfé./f he elephant and the fish are in the same pile. The eighth animal is
a turtle.

Based only on the information above, whichjoﬁ the following must be true?
t,ff‘

A The fish and the Illama are in th §ame pile. [l

4

B The elephant and the turtle are in the sa pile.

C Three animals may be th in the first pile.
P
D Exactly two animals alrja the/ )T}‘econd pile.

Answer: C \ /
\ A
_/

&

Explanation: (U
The first pile has a Ii%mouse. As the monkey, the ilama and the dog are in different piles so one among them should be in the first

peie. \

The elephant and fish are in the same pile and one among monkey, ilama and dog will be in that pile but we cannot say if they will be in
2nd pile or 3r¢"f>ﬂe. So there will 2 piles of 3 animals of which one is the first pile.

e
!
'

Question 2 (

In a certain |h{g;uage "b ,ﬁ qui zu" implies "zomato provides food delivery". In the same language "ra ni ma tu" implies "i love good
food"; "ba te sc"m'rglle/ "love the delivery fresh"; and "so zu tu qui ba" implies "zomato delivery provides fresh food".
What would be the code of "love the fresh" in this code language:

A qurani
B tesoma
C zusoba

D tutequi

Answer: B

Explanation:
Itis given,

B

In (1), (3) and (4), code ba and word delivery is common. Therefore, code wo ‘?gr delivery is 'ba'.

We need to find the code for 'love the fresh'. Removing deIiverV‘F:o\ | get the required answer.
Therefore, code of 'love the fresh' includes 'te ma so'. Only option satisfying-is option B.

The answer is option B.
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Question 3

A word arrangement, when rearranged by
rearrangement. Study that rule/logic and app iven problem.
INPUT: man’s mood varies with time and environment

Steps/Results: /—\d
l. Varies with man’s mood en@}a\ time
ma

Il. And time environment moo s vari

11l. Environment time and varies withmood/man’s

IV. And varies environment time man'’s

If Step IV reads, 'everyfiije was aware about their beautiful friendship', what will be the three middle wordsof Step 11?
WA

B,
A their beautiful%aﬁé\\

Y
B aware bea/ytiful their
£

C everyc{r(e were frie qship
\ '
D aware were.bea /jfdl

Answer: B

Explanation:
Since the question is only considering the 4th and 2nd lines, y

Let us consider the third line of the illustration and arrange the 4th and 2nd lines-accordingly.

IIl. Environment time and varies with mood man'’s s
Let Environment - 1, time - 2, and - 3, varies - 4, with - 5, mood - 6, and man's;- 7. @
Now, the coded version of Ill will be 1234567. ~—7/
From the illustration, the code IV will be 3412765 and Il will be 3216745. / y.

Now after applying a similar code pattern in Step IV of the asked qu I@
Everyone about aware beautiful their was friendship. \\j

Thus, the correct answer is B. R
-
Question 4 \

Complete the following sequence: \
5,72,412, 2658, ? :
A
A 12772 \b
Q\ —

B 21264 R
C 21512

D 18876 /’/

Answer: C \

Explanation:
The series is in the form of 2nan + 62 (n — 1) , n > 1,wherea1 =5

Forn=2,a2 =5 X% 2+ 62 7{{%\\

Forn=3,a3 = 72 X 4+6é‘r>< 2 % 413
== 8

Forn=4,a4 =412 x 6 + 62 X g
Forn=5,a5 = 2658 X|8 + 62 x 4 = 21512
A,
Thus the correct optionis C:
\\\
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Question 5 ¥

In the galaxy/ “Andromeda”, a planet named “Exo” has a city called “Azith”. The city has analphabet system that consists of 48 letters
and an octo-decimal number system (base -18). Theregistration number on the number plate of a vehicle in the city has two parts.
The first pa \|s the alphabétpart that consists of three letters and the second part is the number part that consists of 3 digits. The
cltyadmlnlstra\t{on lssu,es/ all kinds of registration numbers with following restrictions:

a. The letters in thealpl’fabet part are in ascending order and all letters must be distinct.

b. In the number part, the first digit is three more than the third digit.

Find the number of possible registration numbers available in the Azith city.

A 3353270 A
p
r
B 2557830 / oy
// //” R
C 5339840 | / 'Q>
4 ) ~ //
D 4669920 / v A
7
Answer: D //\ {" )
( b \
\\AK/
Explanation: N j_d
There are 48 alphabets out of which we need 3 \,

>
So, no. of ways of selecting 3 alphabets from 48 alphabets is 480;\\\\
T~

~
Since we need to arrange these alphabets in ascending order so there is onI}Yj possible way for every three alphabets.

&
The first digit is 3 more than the third digit. k

For a particular first digit there will be a particular third dlglt but the 2nddigit can be any of the numbers

So, no. of ways of selecting first digit=15 \ \
No. of ways of selecting 2nd digit = 18 Q \\//7
G\l
6

—
Therefore, total no. of ways = 48C3 x 15 x 18 = 4\699&\
Question 6 \

Based on the information that follows, whi.t‘::h%f the given options is MOSTDEFINITELY TRUE?
There are two containers in a room. ( m
1. One is a box and one is a can. \ // '
2. One is small and is green. \\\_///
3. One of them has toys in it. S~——
4. The can is big.
5. The container that is compls,te/’lfﬁrple has toys in it.
x'\\ . .
. v n
A The box is big. ( l\ y )
\\ A /x

N 12/

B The canis greeniy

XA
C The box does %/e toys in it.
Sy
&

D The can has toys in it. .
Answer: {?/
a",r
Explanation} \ i/
Itis mentlone\dmatthere/are two containers in a room. One is a box and one is a can.
Can is big. Box is anaII and green. This implies can is purple and have toys in it.
We do not know what is there in green box.

Therefore, answer is option D.
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Question 7 /
Ranbir’s office has two doors facing each other. The front door faces east. He comesout of his office back door and walks 100

metres, turns right and walks 50 metresfurther. The direction he is now f

A North-east

B South-west

C South-east \
D North-west
Answer: D

Explanation:
The front door is facing east which means t oor should be facing west.

els in the west direction for 100m and then turns right which means
ction from his office.

Ranbir comes out of his from the back door whic
he is now travelling north. So finally Ranbir is in northw

Question 8

The leap day falls on the same day of the week after a gap of at least

A 28 years
B 7 years
C 5years L{/*\
D 11 years @V
Answer: A -
[
\\
Explanation: A

364 days makes 52 week \“inll take the remainder days in a year and add them.

For a period of A\years the no. of days which we get = 2+1+1+1 =5

//
a period 4 years as a leap year occurs in every 4 years
tomake 5d 'Qs a multiple of 7 for which we have to multiply it with 7.

So, total yearswilkbe 4*7 < 28 years
Question 9

The number of ways in which Aman, Anaya, Danish and Nero can stand in a straightline such that, Danish comes between Aman and
Anaya and Nero does not comebetween Aman and Anaya is

y’
A 4
B 6 .
C 8 —
D 12

Answer: A
Explanation:

The possible outcomes will be

Aman, Danish, Anaya, Nero \
Anaya, Danish, Aman, Nero \ )
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Nero, Aman, Danish, Anaya
Nero, Anaya, Danish, Aman q
\
CMAT @ed Previous Papers.

Question 10
0\

Abeer has 14 novels. Abeer’s friend Sanjay ;alies 3 of them and gives 2 novels to Abeer. Abeer donates 7 novels but buys 4. Joy

takes 4 novels from Abeer and gives him 5/ Abeer takes one novel from Sanjay and gives to Joy in exchange for 3 more. Abeer gives

those 3 novels to Sanjay and he gives Abeer a novel an:f? magazine. Rahul takes the magazine which Sanjay gave to Abeer and

gives Abeer a textbook. Abeer gives the te\)Qt\bQQLt_g,J: in exchange for a novel. Rahul takes the novel from Sanjay, gives it to Joy

for a magazine and gives Abeer the magazine for-anovel. How many textbooks does Abeer have?

1.0

2.1 /':___""\h__‘

3.2 0 1

4.3 u

T
N r\

D 4 ( o
Answer: lA _;" ]
x,\\_\\_._ y / 7
. N
Explanation: —

In total, Abeer took part in 8 transactions.
0. Abeer had 14 novels.
1. Gave 3 and received 2 novels. Thus, Abeer had 14 -3 + 2 = 13 novels. )

. Donated 7 and bought 4 novels. Thus, he had 13-7 + 4 = 10 novels. A
. Gives 4 to Joy and takes 5. Thus, he had 10-4 + 5= 11 novels. y Q

. Gets 3 from Joy. Thus, he had 11 + 3 = 14 novels. / ’j ( ))

Z =12 nov \aﬂd"l:magazine.

. Gives the magazine to Rahul in exchange for a textbook. Thus, he héd 2 novel?dﬂd%xtbook
/

. Gives the textbook to Joy and takes a novel. Thus, he had 12 + 1 = TGAn A \ /

2
3
4
5. Gives 3 to Sanjay and gets 1 novel and 1 magazine. Thus, he had 14/'-
6
7
8. Gives Rahul a novel and gets a magazine. Thus, he had 13 -1 =12 novels an(&1 ?jﬁgazme

Thus, Abeer does not have any textbooks. O
\\\
Hence, the answer is option A. \.._:
R
Question 11 Q. } )

Direction: A number of sentences are given below which, wher}reieﬂyseﬁﬂenced, form a COHERENT PARAGRAPH. Choose the
most LOGICAL ORDERofsentences from the choices given to construct a COHERENT PARAGRAPH.

A. You may create a visual memory that you can retraqé‘ but physically you cannot experience it again.

B. Now is the only time you have. C

C. Nothing is more valuable than the present moment b dauseyo_qfcén never get it back.

D. Once your past is gone, it doesn’t exist, no matter m’éﬁy/times you recreate it mentally.

E. The future hasn’t even arrived; but again, you keeWrself there mentally.

F. Tomorrow comes disguised as today and '/sn?me of us don't even notice.

1. AFCEDB {,-":/’

2. DEACFB ( _:' m
3. ABCDEF \\ 1)
4. BDEFCA \\\‘v/j/

Downloaded from cracku.in


https://cracku.in/cmat-previous-papers
https://cracku.in

A 1 ,’/ ,?/"‘;\\?

B 2 - L/ (! )Jﬁ
LS4

© (0 o

D 4 C‘t‘a"\_\

Answer: D \\

Explanation: /.
Among the ?1{ tions, only BDEFCA makes a coherent paragraph.

|
B introduceé\thg topic by;,/ ying that the only time we have got is now.
\\_-_—//
D takes the discussi rther by talking about the past.
E then talks about the future thus shifting the discussion towards the things to come.

F furthers the discussion about the future.

C brings the point back to the importance of the present moment.

y
And finally, A gives more context to the thought mentioned in C.
Hence, the answer is option D. /’:“'

/
Question 12 (\ Q
Select the lettered pair that best expresses a relationship similar to that expressed b «@/nal pair.
BROOK : RIVER @

A vein: artery \*\\j

B path: highway <\
T

C vyard: alley E

D pen: paper Q\ J

Answer: B

Explanation:
"Brook" refers to a small stream, i.e., a smaller

Among the options, only "path : highway" represents a si il‘aﬁlationship.

Hence, the answer is option B.

/
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Question 13 \\:::/

Leena, Nitin, Arun and Mohan crossed a lake in a canoe that could hold only two persons. The Canoe held two persons on each of
three forward trips across the | one person on each of two return trips. Leena was unable to paddle when someone else was
in the canoe with her. Nitin w F@%&Qpagdle when anyone else except Arun was in the canoe with him. Each person paddle

continuously for at least one Eljip. W(h'b pad\ar d twice?
W

4

A Leena
@
B Nitin %
S
C Mohan W

D Arun //

Answer(é ‘ }"a

.1
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\\_/ '
Explanation:\/

On the first trip, Nitin and Arun crossed the river with Nitin paddling the canoe.
Arun came back alone with the canoe.

On the second trip, Arun and Leena crossed the river, with Arun paddling.

Leena came back alone in the canoe.
On the last trip, Leena and Mohan crossed the river, with Mohan paddling.
Thus, Arun is the only one who paddled twice.
Hence, the answer is option D.

Question 14

A census taker approaches a house and asks the woman who answ
ages?”

Woman: “I have three children, the product of their ages is 36, the sum of their'ages is equal to the address of the house next door.”
The census taker walks next door, comes back and says, “I need re information.” The woman replies, “I have to go, my oldest child
is sleeping upstairs.”

Census taker: “Thank you, | now have everything | need.”

ny children do you have, and what are their

What are the ages of each of the three children?

A 922 A
B 6,61 Q\\
c 12,31

D 6,32

Y 4
Answer: A )//
Explanation: \\\y 4
It is given, product of their ages is 36. ~———
Possible combinations are:

1*1*36 - sum = 38

1%2%18- sum = 21 //“f\ -
1*%3*12-sum =16 \

1*4*9 - sum = 14 )\

1*6*6 -sum = 13 -

2*2*9 -sum =13 I/?
2*3%6 - sum = 11 ul

3#3%4-sum=10 S

The census takers cor%bﬁékand ask for more information implies that the sum is 13. There are two possibilities for only sum 13, as
there are two p033|blllt|es cené\sfaker comes back and asks for other clue.

(1,6, 6) or 2/2,,9)

The woman(€ ys her oldest child is sleeping upstairs. Therefore, the ages will be (2, 2, 9).

The answerli f

option A. /
Question 15 \_/

Find the ODD one out from the group of words which are 87. related in some way or the other

A din

B cacophony

C racket (,\

D cadence \_)/
Answer: D <\“/
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Explanation:
Options A, B and C all mean a loud, unpleasant noise.

Option D means a pleasant sound.

Download Excellenf%\@ﬁAT Preparation

Two Statements are followed by two conclusmn | and Mark your answer as:-
Statement:
All students in my college are intelligent.

Rahul is not intelligent \
Conclusion:

I. Rahul is not from my college.
11. Rahul should study more.

Hence, the answer is option D.

Question 16

A if only Conclusion I follows \
B if only Conclusion Il follows
C If both I and Il follow ﬂ’ f\_\ -

D If Neither | nor Il foIIows \)

(
Explanation: \! b
As per the two stater%&q\?e\san only conclude conclusion | and whether Rahul should study more or not we cannot infer from the
above statements. \,

Answer: A

Question 17 /:/

The roads t fravel to vari cities from point A are as given
I, JandKc ‘Qez\aﬂl:ﬁ; from E. E cannot be reached from D or C. A leads to B and from C, you can reach G. B leads to E. D can
be reachedjf&:\kleé to F. G also leads to F. L can be reached only from G via F. M can only be reached from D via F. All
distances between two places are 1 km. All ways are one-way only.

To reach M, one must have travelled through?

A GandF

B CandD

. @

D BandK ; ~—
Answer: B /d

Explanation: “\ Q

Using the conditions given in the question, the path diagram is as given below.

A

| G
, ) N
) E B c F \
D
Toreach M, the path is C-D-F-M.
Thus, one must have travelled through C and%tea&
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. . S0
Hence, the answer is option B. \\“’ \

T
~

-

.
-~
o~

Question 18
>

The roads to travel to various cities from point A are as given.

I, J and K can be reached only fromE. E ¢ nnot be reached from D or C. A leads to B and from C, you can reach G. B leads to E. D can

be reached from C. D leads to F. G also le Hs to F. L can be reached only from G via F. M can only be reached from D via F. All

distances between two places are 1 km. Al Ms _a[_g,?: -way only.

If one reaches D, one can go to? ~———
"——\_H"'"a.
A FandM Only //_?p\t
v g W
B Fonly '. l ))
\ N /-:/‘
C JandG P -
[
A
D FandL Q\
Answer: A \x\ S~
Y

Explanation: !
Using the c<{r‘[ditions given in the question, the path diagram is as follows.
L i

| A G L
'
] E B F

|

K
From D, one can only go to F and to

zc-‘—_l".l——-
-
]

Hence, the answer is option A. / —
// /ﬁ
Take Free CAT Mock (w{t AI eo$ lutions)
Question 19 /

/ —
@
Which of the following shall come in place of missing '- '? //\\/\\\. /

mnonom-m-mno-o0- \\)x

A mnoo \\\

B onnm & \)\\
C mnno \ = !

D mnom L\

Answer: B Q \\_jf,f—7

Explanation: \§
The first three letters (m n o) becomes (n o m)>the next three [etters. Similarly, now (n o m) becomes (o m n).
So the missing letters are (o n n m) &

/D

The roads to travel to various cities from &m}ﬂ\A ,ge.a/ given.
1, J and K can be reached only from E. E cannot be reached from D or C. A leads to B and from C, you can reach G. B leads to E. D can
be reached from C. D leads to F. G also leads to F. L can be reached only from G via F. M can only be reached from D via F. All
distances between two places ’eI]Qn._AII ways are one-way only.
I, J and K can only be reached fr’(/)m?/ f"‘\t;h

] /

g g \) )’

|
L‘\ \"--_,/ j/

Question 20 ;\
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B
c C

D B

Answer|:_l_ B

Explanation:
Using the conditions given in the question, the path diagram is as given below.

D
o

Thus, |, J and K can only be reached from E.

Hence, the answer is option B.
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